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Quiz Review 4.2 - 4.6 Review

For each table, determme whether the relatmnslup isa functmn Then represent the r elatmnslup usmg an

ation.
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5. Tell whether the function below is linear or nonlinear, Explain.
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Each set of ordered pairs represents a function. Write a rule t_ha_f represents the function. ( Mkl 6 ta bl g ) .
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10, Writing Is the point L— -—J on the graph of 6x — 2y = 187 How do you know? S
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B What is the difference between a discrete and a continuous function? Explain.
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Make a table of values for each function. Then graph each function rule. (MPBKEXNAXZ)
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identify the domain and range of each relation. Use a mapping diégram to determine whether the
relation is a function. ‘

20' {(_3I 6): (OJ 2); (11 O)f (2, —3)} 21. {(_11 _4): (O’ 0}: {1, 4): (2, 8)}

2:2-3,0,43)  Dd:8-1,0,1, 2

Find the range f each function for the given domain.
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Graph each function rule. Explain your choice of intervals on the axes of the graph. Tell whether the graph is
' tinuous or discrete.

24. The cost d, in dollars, for a parking pass depends on the number of whole weeks w you
purchase. This situation is represented by the function rule d = 25w.
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For problems 25 — 31, Write a function rule that represents each situation, solve if necessary.

25.The price p of an ice cream is $3.95 plus $0.85 for each topping t on the ice cream.
P =.,BS¢t +3 95
26.A babysitter’s earnings e are a function of the number of hours n worked at a rate of $7.25 per hour.

e = 1.25n

27.The price p of a club’s membership is $30 for an enrollment fee and $12 per week wto be a member.
B=1dw #30
28.A plumber’s fees fare $75 for a house call and $60 per hour h for each hour worked.
= Wh +7185
29. Ahot dog d costs $1 more than one-half the cost of a hamburger h.
d =z .8k ¢

30. losé is 3 years younger than 3 times his brother’s age. Write a rule that represents José’s agej as a function of
his brother’s age b. How old is José if his brother is 57

j$3%a$ V2 years old

31. Ataxicab charges $4.25 for the first mile and $1.50 for each additional mile. Write a rule for describing
the total rate r as a function of the total miles m. What is the taxi rate for 12 miles?

rzLS(m-1) 4 4,295

32. Does the data or graph represent a function? If so, is it discrete or continuous?
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